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Note | Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more
bubbles will result in zero marks in that question

QUESTION NO. 1 DOK ~2rYy . 1 AUy

The founder of neo-classical school of thought is : v b g Ew)l 1
Pigou .é, (D) Keynes L (C) Marshall J‘&A (B) Adam Smith & ¢4!(A)

Utility of the last unit of a commodity consumed is called : - stk it € 561 ST s e e Sz J( 2
Marginal utility »il 7¥ (D) Positive utility wile? (C)  Negative utility i & (B) Total utility ¥ J(A)

Functional relationship between price and quantity demand is : -4 H, 1 JU L WA sl =d | 3
Positive =} (D) Increasing d/.f (C) Inverse J)“ (8) Direct =L s.(A)

The guantity of a commodity existing in the ware house is called : -4 Gllc(;u? Ji’:‘.. Py Sy rbf 4
Utility bt (D) Demand ¥ (C) Stock 125 (B) Supply »s (A)

The easy application of law 6f decreasing returnison: - ¢ bt Jit g S J:Br @I | 5

Agriculture ¢ =#.j (D} Housing 4&,:'-" (C) Trade 4=A? (B) gindustry 4= (A)

The change in total cost for the production of every new unitis: -t ?,".’fd’_;? 547 Ja L 1k MG .| 6
Marginal cost oide F‘f (D) Variable cost J3As > (C) Average cost JIiAa hdlf (B) \Total cost iAs J (A}

2 monopolist controls the supply : —4 b d:)( 4 A4 s wilel | -7
Absolutely Nil Jf} gﬂk (D) More »ls (C) Totally t}; (8) Partially (:Z (A)

A firm is at equilibrium when : 2 ¢ J.rt Sl &5 n (} -8
MR=P o = AE (B) TR=MR 7% = df (A)
MR = MC e B = 4t (D) P=MC A = =d (C)

Transfer payments are : - ULl Jor | 9
Unemployment allowance |.f1 51§82, (D) Prices u.:‘l (C) salaries u!tf (B) Wages L2 (A)

The concept of national income was présentedby : -U’Jﬁ »¥ J.sT d}' -10
Adam Smith@” 4/ (D) Pigou & (C)  Keynes (B)  Marshall FA (A)

The relationship between the valde of money and quantity of money is: -4 JP ¥ 1 jlid» s 1) 29| a1
Increasing d/?{ (D) Parallel ($i# (C) Inverse u’:" (B) Direct «=is iz {A)

It is more useful in inflation : - g ba g bl L | 12
Deficit budget &£¥K<e 5 (B) Surplus budget o5 S (A)
Domestic budget &5,{/’ (D) Balance budget &£(i1#(C)

The phases©of trade cycle are : -t Lt At & /E J&’ 13
2 (D) 4 (C) 3 (B) 1 (A)

Balance of payments includes : Y, | J.n Je L ‘zb! et | 14
Visible goods rPlJ/ (B)  Visible and invisible goods /% J/,;' sl J/ (A)
Invisible goods #2 J/,! (D) Services 4w (C)

LTS e f T e it uT S oF | 15

A branch of economics which deals with income and expenditure of a government is called :

Permanent finance ..:;{JI.J‘V (8) Private finance =\ tf (A)
Pubiic finance =\ (§8/ (D) People’s finance =YL (C)

AR S

107 (Obj) — 1* Annual 2024 [7 (PAPER CODE - 6541)



TIME 2:10 HOURS W SUBJECTIVE PART A% » e 10£ 20

TOTAL MARKS : 60 PART-1 Jie DOK-2Y 60: A
Q. No. 2 Write short answers to any Six of the following 2x6=12 -éu iz AL s5pl0p A Z_/Jlr
What is means by Social welfare in Marshall’s definition ? _ Tq iy Lf.-;. FY J/bﬂ 194 ...g'} Jd’a‘. i
e b/ S id & e G £ FF bt ile 95 | i
How consumer attain equilibrium in law of equi-marginal utility ?
What is difference between demand’s extension and rise ? f¢ G Ly g L b | i
What is meant by Zero utility ? Sl e it p| iV
What is meant by joint supply ? Te sy Lfc. ' Jr"‘ v
Differentiate between point and Arc elasticity. ' -i ok 3L ..{ us s J" vi
What is meant by normative science ? Se oty Ve e H' vii
Define the law of Diminishing Marginal Utility. : Sq iy Ve |-;.7 ol ;kﬂrch’i' viii
Write down four assumptions of law of supply. _zE 4}7 oy A s Loars 5 | ix
Q. No. 3 Write short answers to any Six of the following 2x6=12 .J-,J =R /“ L sijplbg < Jf 3../:"'Jlr
‘Explain the concept of opportunity costs. .£ ol (f ¥ £ idw D |
What is meant by Labour ? ‘ L Lfr_. =¥ i
Explain the concept of marginal revenue. _igat.‘u J»; Z S [';‘? ii
What is meant by variable costs ? T <y fo:.. e ,c""" iv
What is meant by Law of increasing costs ? : ) e/ [fr- A ,é( oiF | v
What is meant by firm’s equilibrium under perfect competition ? Tq:_ sy y"-. witd L I’/; e L Al J’: vi
Explain the concept of Normal Loss. .é:#l.&: § P L o o™ | vii
Write four Functions of entrepreneur. -é u"fl} s L 21 | viii
What is meant by vertical mobility of Labour ? Y alp Lf«:. Uik 7 6 Jc:-‘f ix
Q. No. 4 Write short answers to any Six of thefollowing. 2x6=12 -2 = vz A& L st d/a -/Jlr
Explain the concept of National income. = i e (x" ¥ 34T gi | i
Write methods to measure national incoine. -é )L J’k, JG.&T g7 | i
Write Fisher’s equation of exchange. 2 Dy et P /:.':4 jii
Write four effects of deflation: -i Wl = # Lupl|iv
Make a diagram of the phases:of trade cycle. - -t r'l/? B st £ /E (L? v
Write four assumptions of comparative cost theory. ety s L e ;&ﬁ? » }” vi
Write four causes of deficit balance of payments. . ..2! A L ¢ Lﬁ bl eutd | vii
What is meanby Tak ? S ¢ iy LJ’.-..ug viii
Write four points of economical importance of Zakat. J:.‘I =i e L el u‘&r J 790 | ix
Part-il pgacad
NOTE : Attempt any three questions from this part  3x8=24 .2Z£ ./ a&b&é%;d/ o Lo ild
Is economics is a Science or Art ? Explain it with arguments. _i eolos o JU 8 J ke [J' b 5_/J|,-

P e bor g ot SO EE = rlz?’ at e by § S 2F b 6./Jlr
Explain the law of increasing returns with schedule and diagram. Also discuss its application.

2 eolss i £ ;L Koo 2 Lt el 7_./=idlr

Explain the firm’s equilibrium under monopoly in short run.
-;2{:. e Ll woloy S a5 4_1; 8-/;)d|y
Explain the Quantity Theory of money with the help of an example.
Explain the international trade theory of comparative cost. & walos § e dv ALk ingt| 9 /;JJI v
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